

# State of West Virginia Department of Administration Purchasing Division

### NOTICE

Due to the size of this bid, it was impractical to scan every page for online viewing. We have made an attempt to scan and publish all pertinent bid information. However, it is important to note that some pages were necessarily omitted.

If you would like to review the bid in its entirety, please contact the buyer. Thank you.

a



March 11, 2008

West Virginia – Department of Administration Purchasing Division, Building 15 2019 Washington Street, East Charleston, W.V. 25305-0130

To: Mr. Abbott

ARAMARK Correctional Services, LLC is pleased to submit the following response to the State of West Virginia for the provision of food services RFQ #COR61373.

ARAMARK Correctional Services, LLC is not only the leader and most experienced correctional food service company in the nation, but has provided these services to the West Virginia DOC since 1995. ARAMARK Correctional Services, LLC has submitted a proposal that is in accordance with all requirements set forth in the request for quote document. Our policies and programs will continue to meet and/or exceed the State of West Virginia's expectations, adhere to all local, county, state, and federal laws, West Virginia State Commission of Correction regulations, and American Correctional Association (ACA) standards. ARAMARK Correctional Services, LLC understands the RFQ, does not take any exceptions, and will comply with the RFQ as written.

### a. The name and address of ARAMARK Corporation is:

ARAMARK Correctional Services 1101 Market Street Philadelphia, PA 19107

### b. The name, title and telephone number of the ARAMARK contact persons are:

Jonathan B. Walker, V.P. State Systems

Steven R. Morrow, Regional Director

Walker-Jonathan@aramark.com

Morrow-steven@aramark.com

Cell - 615-440-3080

Cell - 203-910-0145

Fax - 630-271-5758

Fax - 630-271-5758

## c. ARAMARK Correctional Services is pleased to submit the enclosed offer in response to RFQ #COR61373 for Food Services.

The name and address of ARAMARK Corporation and Contract Department is:

Ronica-Alexzandra Mangini, Contract Administrator or Jackie Meredith-Batchelor, Assistant General Counsel ARAMARK Tower, 1101 Market Street, 29th Floor, Philadelphia, PA 19107 215-238-3270 (telephone), 215-238-3282 (Fax)

<u>Mangini-ronica@aramark.com</u>

<u>Meredith-batchelor-jackie@aramark.com</u>

RECEIVED

2008 MAR 12 A 9-39

2300 WARRENVILLE ROAD
DOWNERS GROVE, IL 60515
630 271 1300

PURCHASING DIVISION STATE OF WV

d. I am an agent of ARAMARK Correctional Services, LLC authorized to bind ARAMARK Correctional Services, LLC to any contract for services resulting from this solicitation.

My contact information is as follows:

Tom Burns, Senior Vice President

Business Development 2300 Warrenville Road

Downers Grove, Illinois 60515

Phone 630-271-2935 Fax 630-271-5758 Web aramark.com

e-mail: Burns-Tom@aramark.com

ARAMARK looks forward to the opportunity to discuss this offer in detail with you and other appropriate representatives.

Sincerely,

Tom Burns

In Gran

Senior Vice President Business Development

### COR61373 - Addendum #1 - Attachment 1B

### **BID QUOTATION**

Actual Number of Inmate Meals Serve	ed Daily	Price Per Meal Served
At MOCC/SWC, HCC and MCC Com	<u>ıbined</u>	
Below 4000		<u>\$1.776</u>
4000-4499		\$1.687
4500-4999		\$1.598
5000-5499		\$1.509
5500-5999		\$1.409
6000 and Above		\$1.409
Sack/Bags Meals (Meals/ Medical Snac	ks) Firm Price Per Meal/Medi	cal Snack \$0.00
No exceptions to pricing on Medical or daily at per meal served in cat		vill be invoiced with all meals served
Price Bid Evaluation will be based upor	n the 5500-5999 range ADDED	to the Sack/Bag Meal Price Per Meal
5500-5999 Price Per Meal Range	\$1.409	
Sack/Bags Meal Price Per Meal	\$0.00	
TOTAL:	<u>\$1.409</u>	

### In addition to the Price Per Meal Costs, the Vendor MUST submit the following:

a. Staffing listing as in RFQ by facility to include staffing matrix schedules for each facility by staff title.

#### 2007 CALENDAR COMMODITY RECAP

Mt. Olive	# of	Dressed	Cost		# of		Cost		Potato	Potato	
Corr. Center	Beef	#	Per#	Total Beef	Pork	Total#	Per#	Total Pork	#	•\$	Total
Jan	6	3,676	\$1.56	\$5,734.56	9	2,484	\$0.57	\$1,415.88			\$7,150.44
Feb	6	3,569	\$1.60	\$5,710.40	9	2,322	\$0.57	\$1,323.54			\$7,033.94
Mar	6	3,732	\$1.64	\$6,120.48	9	2,277	\$0.58	\$1,320.66	15,000.00	\$1,800.00	\$9,241.14
April	6	3,691	\$1.70	\$6,274.70	9	2,583	\$0.54	\$1,394.82			\$7,669.52
May	6	3,603	\$1.72	\$6,197.16	9	2,394	\$0.57	\$1,364.58			\$7,561.74
June	6	3,776	\$1.70	\$6,419.20	9	2,547	\$0.59	\$1,502.73			\$7,921.93
July	4	2,554	\$1.62	\$4,137.48	8	2,248	\$0.60	\$1,348.80			\$5,486.28
August	6	3,773	\$1.59	\$5,999.07	9	2,214	\$0.61	\$1,350.54			\$7,349.61
Sept.	3	2,075	\$1.61	\$3,340.75	18	4,608	\$0.59	\$2,718.72			\$6,059.47
October	0	0	\$0.00	\$0.00	21	5,355	\$0.58	\$3,105.90	15,000.00	\$2,100.00	\$5,205.90
November	2	1,505	\$1.65	\$2,483.25	21	5,628	\$0.52	\$2,926.56		***	\$5,409.81
December	2	1,340	\$1.66	\$2,224.40	21	5,607	\$0.51	\$2,859.57			\$5,083.97
	53	33,294		\$54,641.45	152	40,267		\$22,632.30	30,000	\$3,900.00	\$81,173.75

Huttonsville	# of		Cost		# of		Cost		Potato		Potato	
_C Ctr.	Beef	Dressed a	Per#	Total Beef	Pork	Total #	Per#	Total Pork	#		\$	Total
<u> </u>	0	0	0	\$0.00	0					\$	-	\$0.00
Feb	0	0	0	\$0.00	0		0.14		5,050	\$	707.00	\$707.00
Маг	0	0	0	\$0.00	0		0.14		5,000	\$	700.00	\$700.00
April	0	0	0	\$0.00	0		0.14	_	4,750	\$	665.00	\$665.00
May	0	0	0	\$0.00	0				·	\$	_	\$0.00
June	0	. 0	0	\$0.00	0				0	\$	-	\$0.00
July	6	3,860	\$1.63	\$6,287.04	0				0	\$	-	\$6,287.04
August	6	3,901	\$1.60	\$6,237.59	0				0	\$	-	\$6,237.59
Sept.	6	3,997	\$1.64	\$6,559.10	0				0	\$	_	\$6,559.10
October	7	4,575	\$1.65	\$7,543.95	- 0				0	\$	-	\$7,543.95
November	2	1484	\$1.66	\$2,458.65	0		0.14	j	3,000	\$	420.00	\$2,878.65
December	7	4427	\$1.69	\$7,486.84	Ō	Ì	0.14		4,000	\$	560.00	\$8,046.84
	34	22.243		\$36,573,17	0	· ·			21 800	\$ 1	052.00	\$30 625 17